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PART-I / 917T- |
MATHEMATICS / Tifore

.
The coefficient of v'' in H‘_Y is
(1) 44

(2y 42

(3) 40

4y 46

The system of lincar equations
(A ENx+(R+2yytz =0
Bx+(A+3)ytz=0
2rt+3y+e=0

has nontrivial solutions

(1 ifi=1

(2) ifh=-1

(3} forno real value of %

(4) ifA=0
An antiderivative of the integrab
X 1-x )2
“{172) &

(1) Ry

is

(2)  —xe'i(l -"'f}z
(3) €U =1y
4y &1+ D)

B 2 ;
W & fawr 9 y' | s ene

(1) 44
(2) 42
(3) 40
(4) 46

(L+3)x+(A+2)ytz =0
x+ (At 3)y+z-0
2x+3y+7=10

FATDEA L

(1) =fr=1

(2) ARL=-1

(3) = HE o arefas ae Tw E |

(4) 3REL-0

x(l - X

mﬁ:ﬁj 1+ dx T TF 9T

HAFAA E |

(1) ey

() —xe(1ry

(3) €U -1y

(4) el +xh)
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a a

4. J lﬂg{x+\||'x‘+| ) dx equals 4, J‘ log (x +fx +1 ) dx T A E
—3 —i
(1) 2log(a®+ 1) (1) 2log(® +1)

@) 2log {m e (2) 2log (/a1 -a)
(3) 0
(3) 0
4y 2log(at "\[‘u‘ t1 )
4) 2log(a +afarl )
ar, x <2 lax, x <2

5. Letfx)- {ar! +br+3,x>2 3. WEAX) Z{ax?- Fhy+3,e>2
If /' is differentiable for all x, then the 1% v % Wl AL fefu /e g, fl
value of (a, b) is equal to {a, ) FTAAE |
() (1,2 (1 (1.2)

) (3/2,972) () (3/2,92)
(3)  (3/4,-9/2) (3) (344, - 972)
(4) (3/4,-9/4) (4) (3/4,-9/4)

6. The wvalue of ¢ for which the 6. A WA fix) = 25 % fam
conclusion of Lagrange’s mean Lagrange &1 W29 yHT & e
value theorem holds for the function ST 1, 5) G eNa &, @ c F A= # |
fix)=4/25 -7 on the interval [1, 5] is

(1) 3
(1 3

(2) 5
(2) s V3
@ 2 &

Space For Rough Work /6 %1 % fag e
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[k=1)+a ifx<l
"‘ﬂ"]‘{zns ifx> 1

If f{x) has a local minimum at x = |,
then

(1) a>5
(2) O0<acx<$
(3) a<s
(4) a=5

The area enclosed by the curves x* =y,
y = x+ 2 and x-axis is

5 .
(1) 7 sq. units

5
(2) —E*sq.units
15 :
(3) 3 sq. units
5

(4) 6 59 units

In an ellipse, the distance between its
directrices is four times the distance
between its foci. If (— 2, 0) is one of its
vertices, then the equation of the
cllipse is

(1) 3¢ +4y*=1
2) 4F+3y¥ =12
(3) W +4y'=12
(4) 4f+3y¥=1

he—1|+a Tx<|
TMA)=12c+3  =Rx>1

A fix) B x = | W UF T AW & Al
(1) a>s

(2) 0<a<5

(3) as<s

4) a=5

TE N =y, y=x+ 2T -5
T §

(m %w’rm
@) %uﬁmi
(3) L—Saﬁmﬂ

(4) % Tt v

ue Sy f st & A i gl bl
sdeH @Ak 13k (-2, 0)
Taw U i &, ot Seigw o wdtero &

(1) 32+4y =1
(2) 4 +3y =12
(3) 3 +4dy’ =12
(@) 4’ +3y =1

Space For Rough Work / TF %/ & fag sme



10.

11.

12.

If the section of the sphere x* + y* + 2
= by the plane z = a/2 is a circle of
radius xﬁ.—? units, then its section by
the plane z = a/6 is a circle of radius

(1) /35 units
(2) +J40 units
(3) Af45 units
(4)  Af30 units

If a, b, ¢ are in A.P. with non-zero
common difference and x, y, z are in
G.P., then the points (a, x), (b, ¥) and
(¢, z) are collinear, if

(1) y=z
(2) x=2°
(3 S=y
(4) x=y==z

The distance between  the
(-1, -5, =10) and

poant
the point of

intersection of the ling X 3 2 = Lé—l =

Z—=2
_Ii"with theplanex—y+z=51is

(1) 13
() 15
(3) 16
4y 12

10.

11.

12.

ﬂﬁ‘ﬁﬁz—"aﬂm’ﬂﬁf+f!z"—'—al
1 wiTee, Af27 s favar & gw A Al
T T T AA 2 = a/6 T HireeT U
g ¢ fora e
(1) 35 =91
(2) <[40 ==
(3) +f45 T

(4) BozwE

1T a, b, ¢ YT WE AL A T
SEH & o9 x, y, 7 O St A € ot fag
(a, x), (b, y) 791 (¢, z) FREE 2 37

(1) vV=z
(2) x=z2
(3) K=y
4) x=y=z
x—2 y+l g3
L e el g A

x—y+z=15% oawsd fag auw fag
(~1,-5,-10) FaEFTHR &

(1) 13
@) 15
3) 16
@ 12
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13.

14.

15.

The equation of pair of straight lines
through the origin, cach of which
makes an angle o with the line y = x i3

(1) _r:—21j.rsin211+}f2—[}
(2) .1‘1'—11wmsiu+f-ﬂ

: i
(3) & —2xycosec2a+y =0

(4 ¥ —2vycos 2o+ _?2 =1}

The y-axis and the lines

{zif 2% + (a 2y + 3a = 0 and
(@ — 3a'w + 4y +a -2 =0 are
concurrent for

(1) Twovalues of a

(2} Three values of a

{3) Five valucs of a

{4} Nowvalueofa

I X has a Poisson distribution where
2P (X =0) = P(X = 2), then PO=<X<3)

(1Y 4de

[ T—
(2) S ¢
N U
(3) 7 ¢
(4) 5¢7°

13.

14,

15.

e o A e Al var g, ety
Ty = x % WY WO o =T E,
T 2

2

(1) x —2xysinZo+y =0
(& ¥ 2y sec2a+y =0
(3)  x - 2xy cosec 2a + f -0

4y ¥ - 2xyeos 200+ v = 0

v-3T8] FT T

() T

(a° — 2’ + (a + 2y + Ja =
(@ 3a’)x tdyta-2-0HTEHE

(1) asstoAi®fas

(2) a9 9H & o

(3) uésﬂaqrﬂaaiﬁn

(4) o = 99 % oo =

% X @ UF wEr @ { Poisson

distribution) #. @efs 2P (X - 0) -
P(X=2),MP0<X<3)

(1) 4e?%
ool .
(2) 3 ¢ Bl
T
(3) 3 ¢RI
(4) Se’# |
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16.

17.

18.

If torces P + Q and P — Q make an
angle 2a with one another and their
resultant makes an angle 8 with the
bisector of the angle between them,

then :Z (‘:‘Lt g.} is equal to
M Q-

@ P-Qip )

3 PHQyp

@ PiprqQ)

If A stands for the area of the triangle
ABC, then b’ sin 2C + ¢’ sin 2B is
equal to

(1) 2A
(2) 3A
(3) 4A
4 A

I 1
If fix) = 55, when TS X =50,

| -

1
Lt ;
then ... flx)dx equals
12"
1
(3
2
2 3
3y 0
l
(4) 3

16.

17.

18.

afe & P+ Q T P — Q U T/ H FOr
Yo TAH B F I 9RO S & 6
FUT & FHF F AG FOT O T B A

M AUr-
@ P-=Qyp+ )
3) P+Qyp g
@ P+

afz A, et frger ABC & &iawel %1 995
& b7 sin 2C + ¢ sin 2B W E

(1) 2A
(2} 3A
(3)  4A
(4) A

! 1
ﬁﬁf{‘r}fﬁ*mﬁ{x*jgﬁ;

1
¢ 4
0=0,1,2,.. 70 J‘ fix) dx FTET
Iy.m
2
1
(3
2
2 3
(3) 0
|
(4) 3
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19.

20.

21.

Ship A is 6 kilometre west of a point O
and moving east at 3 kilometre per
hour; ship B is 8 Kilometre north of O
and moving south at 4 kilometre per
hour. They arc ncarest to one another,
when time in hours equals

(n 2
1
2)
(3 3
[
4) 15

Two points P and Q in the Argand
diagram represent complex numbers z
and 3z = 2 + i If P moves around the
circle with centre at origin and radius
2, then Q moves on the circle, whose
centre and radius are

(1) -2-i,6
(2) 2-i,3
(3) 2+i,6
4) 2+1.3

The value of k for which the circle
Yiy -dx+6yi3-0

will hi:ﬁ:ct 1]3:: circumference of the
circle x¥* +y +6xr 4y+tk=0is

(1) 33

) -5
(3) 47
(4) -47

19.

21.

T A U [ O # 6 ez ufvan #i
ST & avan Y feem i 3 feensites wia 921w
e ¥ g @ E 1w B g O % 8 fwsi
I9T F AW & w4 4 fEenite ufn g2 =
nifer & zfgor = 3 9@ kAR O g

:Ehmﬁmmﬁmhﬂaﬁ
(1 2
@ 2
(3) 3
@

e A | g P A Q e Wi
FHEG 7 74T 37 4 2 + | W T e
7z P OF TH g9 F AIXD AW TN E,
frrmFz g fag taa w28 M Q
e gw W e ¥, S W A e
FO- 2

(1) -2-i6

(2)

k =1 aF A e ga

X ry - 4x+6y+3-0,
FaL by + 6 4y + kO F TR
wulga= =W

(1) 53%1

(2) -s53%1

(3) 47%

(4) —47k.

Space For Rough Work / T %14 & T 97



22.

23.

23%t 3t 45
IfA, = a B v
R R L R e

I

then the value of X Ay depends
k=1

(1) only on @ and B, not ony
(2)  enall of e, pandy
(33 onnoneola, [ andy

(4) onlyona, notonf,y

If the Gint_l (2, k) lies putside the
cirgles x* +y = 13 and x™ + y o+ x—2y
—~ 14 =0, then

() ke]-om-2[U]3,o]
() kel]-3.-2[u]3. 4]
(3) ke]-3,4]

4 kel-w-3[v]4 =]

If for real p the equation
sin’x + cos'y =p

always has real solutions, then p lies in
the interval

1y 11,2
@ I3
B 3.1
4 11.2]

23.

24.

(1) aet o a9 p gy T 80
() u,[iﬁﬂhmﬂq‘{
(3) o, By T # faed w

(4) FEe o W 3,y WA

g fag (2, k) (T ¢y = 13 A
CA Pty -2y— 14=0FaRIE Al

(1) kel]-eo—-2[u]3w]

(2) ke]-3 2] 3,4
(3) ke]-3,4]
(4) kel o -3[u]d o]

sin’x + cos’y -~ p ¥ T HIF ARETH £,
Al p HewwE

(1) J1,2|5RadE |
(2 L&,L[ﬁﬁﬂﬁ%’l
(3) I%.llﬁﬁfﬂﬁﬁl
@) |12 afEEE
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25.

A certain water-supply system consists
of a source, three pumping stations,
and a destination. Each pumping
station has probability p (0 <p < 1) of
being operable at a specified time t;

25.

wh Ut e e (water-supply
system) T Ueh FId, T T TIF T4 UF
Tiqe] ©H ¢ | Yo U =i 99y 99 o
W e @l wifasar p (0 < p < 1) & a
= T RYE @aT w9 9 w1 WA ©

and the stations function indcpendently By b TR AR ¥ |
of one another. The stations are
connected as shown below :
—>—0 Destination
The probability that water is available I |zsr|=rwt0u‘{q1:ﬁa?rmﬁﬁa% Feeee
to the destination at time t, is J
1 2p (1 2’
2 p'2-p) @ p2-p
@) p @ p
2
S @ p
26. Suppose P, Q arec two like parallel 26. WP, Qﬁﬂﬂﬁww?ﬂﬁ? | G Fmgot
forces. A couple of moment G is aﬁ(qa;aﬁ_wgqﬁfﬁmw | = qioTrET
combined with them. Then resultant is WW@W@TH‘H&HWW, Y
displaced through a distance
(1 o
(H o 56
2G 2) =
@ 7+g P ;Q
G 3 s
® 10 4 $3Q
G G
@ $-q @ P-Q
27. If m is the slope of a tangent to the 27. AR EH e =1 +4x" W WY @ & A
curve e = 1 +4x% then me,at
(1) |m[<1 (1) Im[=<1
(2) |m[>1 (2) [m|>1
(3) |mj>1 (3) Im|>1
(4) |mj<l (4) |m|<1
Space For Rough Work / T& %14 % fog s
X (10)



28.

28,

30.

Ifx=1+a-+a"+ .. (al <) and
y=1+b+b*+ (|b|<1) thenthe
sum of the scries l +ab +a’t? + ... is
equal to

. A
0y e

Y
@ ¥=y+1

xy
(3) e o |

x:!
4) x+ty-1

The set of values of o for which the
quadratic equation
((thn’:‘).\'2 ~20x—a=0

has two roots on the number line
symmetrically placed about the point 1
is

() 1,0}
(2) {0,2}
3 ¢

4 {0, 1}

A parallelogram is cut by two sets of n
parallel lines, parallel to the sides of
the parallelogram. The number of
parallelograms so formed is

() ("C) x ("Cy)
2) (C)x("'Cy)
3) ("C)x("Cy)
@) ('C)x("Ca)

28.

29.

30.

A x=1+a+al+..(Jaj<l)@enm

y=1+b+b>+ .. (b <1),8&da
et 1 +ab + a’b’ + ... T F07 SU= B

() =7

X
@ =y

Xy
(3) X .l.y_;.. 1

) S
@ ry-i

o % 3% T o ey weffestor
(a+2)F—20x-a=0

& ST qet, W@ @ W fag | % gaima
o, &

(I 1.0}
2) 10,2}
3 ¢

“ {0, 1}

T AR TS 1 n THIER T@Ie % a1
el R HIT T S GHAR IS
TRl & GHE € | 39 UER T 9l
T A T AT 2T

() (C) = ("C)

2) (‘)= ("'Cy)

(3) (Cyx("Cy)

4 (C)x("Cy)

Space For Rough Work / ¥6 &/ & fow 57



31. The equations of motion of a particle 31. FHT t W BT H Rafq (x(t) ; y(t)) W Ho1
are given by o1 7T o THIHOT 39 UPR &
dr _ a_.1.. dx dy 1
at ~tE+D, g =nys gt I)’H%ZEIT;
where the particle is at (x(t), y(t)) at B
time t. If the particle is at the origin at R ¢ = 0 W For et g o &
t =0, then (1) “6x=(e"+1) (e 1)
ol Y _ 1)2
Q) S=ERDE -1 @) 6r=Qe'—1)(+ 1)
@ SRy (3) 6x=("-1)( +1)
(3) Gx=(-D(+1) S g T2
4) 6x=Q+1)( 1) (4) 6x=(2e"+1)(e'- 1)
i lim % ;
lim X ;
32. If Sedie ﬁ(;)') exists, then 32. E'ﬁ"x_)c (ﬂ}mm%m
i lim
(1) xlf:»c Alx) must exist (1) fox) 1 SR HewaH e |
. lim lim lim lim
(2) nmeither , flynor _ g(x) @ 7Fa ) TE | el)H
may exist e 1
li lim
(3) :ic g(x) must cxist (3) X—>¢ g(x) <hl 3:[%[('_0[ W% |
lim lim lim lim <
@) both U fx) and T et @) yope ST, 800) T
must exist AT # |
33, Let L; be a line with dire(ftionl liat.ios 33. WA @ L, % T aFu (-2, -1, 2) §
(=2 —}, 2) and L, be the line joining aur fegait (1, 2, 3) @ 3, 2, 1) &
. o (1, £.3) 15, & L) s et areft YT L, & 1 af i L, e
angie between the Unes Ly and Lo, L, 3% e %7 107 0 21 4t [sin 0] &7 7 &
then |sin 0| equals
1 1
| | o A
M 3 @ g M 3 @ 3
| 1 3 e @
(3) 3\/5 @ 3 12 2
Space For Rough Work / % %/ % faw e
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34.

35.

36.

If 2 and b are two non-parallel vectors
having equal magnitude, then the

vector (@ — b) x (a x b) is parallel to

(1) b
(2) a-b
(3) a+b
“4) a

The numbers a, b, ¢ are distinct and
non-negative. If the three vectors ai +
> = 3 o e
aj+ck,ci +cj +bkand i +k are
coplanar, then c is

(1)
(2)
3)
“4)

geometric mean of a, b
harmonic mean of a, b
equal to zero

arithmetic mean of'a, b

There are 30 boys and 20 girls in a
class. The mean and variance of their
marks in Maths are, respectively, 65
and 100. If 5 grace marks are added to
the score of each student, then the
revised mean and variance will be,
respectively

(1) 70,100
(2) 70, variance > 100
(3) 65, variance < 100
(4) 65,100

34.

35.

36.

3fs 3 97 b A AR 9T FHA TR0
ol giewr (F9X) & at |fewr (@ — b) x
(@ x b) TR E

(1) b
(2) a-b
(3) a+b
4) a

i ot WEd a, b, ¢ FoTeHE T E |
It A Wit (3FT) ai +aj+ ok, i+
cj +bkaa | + K s ai atc ¥
(1) a, b TR "

(2) a, b I ETHE ATA

(3): A
(4)  a,b T FHRR A

U T F 30 T FUT 20 FASHAT § |
39k TIfOT forsrer | 2eRT ST AT dUT WO
FER: 65 41 100 & | Ay Tt &
siet & 5 sits fear siw ot ftafaa are qar
WO AT BT

(1)
(2)
3)
4)

70, 100
70, T > 100
65, TERUT < 100
65, 100

Space For Rough Work / 3% %/ & fou s
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37. A bullet fired at a target loses half of 37. UF 5F H NGl UF LT H 6 WAL 99
its velocity after penetrating 6 cm into T AT T AT @ AT | THA | TB A
it. How much further will it penetratc e B 3 &g sy 2
before its velocity is destroyed ? 1) 39
(1) 3om R
{2) . 2cm (@) 2%HL
3) lcm (3) 19
3
(4) Fem 4) 3 QA
38. If the ratio of the 7" term from the 38. ﬁ(21’3+3‘l’3)"%mﬁ%@mﬁ
beginning to the 7" term from the end ) 1
in the expansion of (2‘” + 3"]’3)" is R A Rl s ¢
s n <R HE
% , then the value of n is n ®
' (M 9
n 9
Q) 12 2) 12
(3) 6 3) 6
4 3 4 3
39. If three distinct positive numbers a, b, 39. ufz @ fafy=r emreas W@ a, b, ¢
¢ are in A.P. such that abc = 4, then the TR S T =9 R £ fF abe = 4 @ b
value of b is always . NN
1 eater than (2 2
EZ; lg; v (2)2(,3) 1) @PIwE
5 l;al o (277 ) (z)zfﬂﬁda% |
e e (3) @ FTEE |
(4) equal to (2) @) (2)3,2$ X
40. If there are 30 onto mappings from a’ 40, =fE n sfEFEl Gt UE QYT 9 s
sct containing n elements to the set {0, 1} W 30 e idta=oT (onto
{0, 1}, then n equals mappings) SdinFEEE
(2) 5 @) s
(3) 7 3) 7
4) 2 4) 2
Space For Rough Work / % % % foe s
X (14)



PART-II / ¥T1- 11
APTITUDE TEST / atfirsfar usteror

Directions (for Q. 41 to 43) : 3-D problem e : (7. 41 9 43 % fer) ¢ 3-D we amata o

figure shows the view of an object. Identify U o] S Em T E | AR 9 e ¥ 2 g
the correct front view as indicated by arrow. W%B%FWH@ v I wEEh |
41. Problem Figure 41. U T

<

Answer Figures ~ ,
11 s
e 1]
=
() (2) (3) (4) ) 2) 3) (4)
42. Problem Figure 42, U IF
@ w
Answer Figures I ATHIEr
TTIT IRl
I |

(1 (2) 3) 4 (D (2) ) Q)

*'Space For Rough Work / T& &1 & feie swre

(15) X



43. Problem Figure

¥
Answer Figures

i3

=2

(1 (2)

.

1 [
(3) 4)

Directions (for Q. 44 to 46) : 3-D problem
figurc shows the view of an object. Identify
the correct top view from amongst the
answer figures.

44. Problem Figure

Answer Figures

() (2)

3) )

o

43, W P
Pl
IR FAFhEr
(D 2

L D
(3) )

e 1 (7. 44 | 46 F fow) @ 3-D v aFia §
U o I @ T ¥ | T W S g

IR el § ¥ TEE |
44. T FFA |
!
(1) (2)
3) “4)

Space For Rough Work / & %@ & fae sme



45. Problem Figure

Answer Figures

8]

3)

46. Problem Figure

4)

Answer Figures
| —C
(1) (2)
3) (4)

45.

46.

T SR

(D

3)

o SR

(2)

4)

(1)

(2)

[1

3)

4)

Space For Rough Work / 3% %/ % feg e
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Directions (for Q. 47 to 49) : Which one of R : . 47 9 49 & faw) : 3-D uw
the answer figures, shows the correct view, HRIT F G W, I ST § F T v
of the 3-D problem figure, after it is opened FTAEY ]
up ?
47, Problem Figure 47. W HFHA
Answer Figures IR APl
@.F} <= * B
M (2) (1) 2)
Y ¥
A /A A A
A <>
2 A
3) “4) 3) (@)
48. Problem Figure 48. v ITHE
Answer Figures ST ARIEr
7115 il oL
M) @ (0 @
— [
U 1111 [7 ? u = 111 l7 Y'
4 N = [
3) (;) (3) (4)

'Space For Rough Work / T& &/ & fog s

X (18)



49. Problem Figure 49. U SHia
Answer Figures T SAHicral
Lm.E—d hijrﬂ LFLELN ==
(1) (2) (1) 2)
M el LT sl
= 8 = H .
I 5
(3) 4) (3) 4)
Directions (for Q. 50 to 52) : Find out the -
total number of surfaces of the object given e @ . 50 Bl 52 & o) @ e el
below in the problem figures. [=iichd o Teel sl el W& T HIT |
50. Problem Figure 50. WY STHI
(1) 10 W i
2
i B @ 12
3) 14
G) G) 14
4) 8
(4) 8

Space For Rough Work / 7% & & foig s71e

(19) X



31,

(1 17
2) 18
3) 19
@ 16

32,

(1 12
2) 11
3) 13
@ 10

Directions (for Q. 53) : Identify the correct
3-D figure, from the answer figures, which
has the front view, as given in the problem
figure on the left.

53. Problem Figure

Ay

Answer Figures

PSP

) @

51.
(1 17
@) 18
3) 19
@ 16

52.
(1 12
) 11
(3) 13
@) 10

e : (1. 53 & fom) ;s et 4 @, 3w
HEl 3-D aHia & sifen, frw woye gvy, o
R T ML T SFHT St 8 |

53. U¥T B

=
SS S

(1) (2)

Space For Rough Work / % %/ % fow 7@

(20)



Directions (for Q. 54 to 55) : Identify the
correct 3-D figure, from the answer figures,
which has the same top view, as given in the
problem figure on the left.

54. Problem Figure

e/

Answer Figures

) (2) 3) (4)

55. Problem Figure

T

Answer Figures

(D (2) ) (4)

56. Which one of the following will reflect
more radiant heat ?

(1) White marble
(2) Red sandstone
(3) Cement plastered surface

(4) Black marble

eeT : (1. 54 T 55 F foIQ) : SR e | 9,
3T et 3-D 3Ria Fi Bifew, Saw T 793,
a1E AR < TE e Rt S e |

54, I IMHA,

i

IR ARt

DRRE
3) )

(M 2)

55, U ATH

IR SARITET
(1) 2) (3) 4

56. 39 ¥ i 4T ey fafeor e ufafataa
FOT 7
(1) UHE R
(2) T ST AR
(3) e FER 98
(4) I WITHTET

Space For Rough Work / 3% %/ % T 718



§7. Cement is made out of 57. W S aaare ?
(1) Limestone (1) T-Terd
(2) Sandstone (2) A TR o
(3) Granite (3) T
(4) Marble 4) TR
58. Which of the following gives smoother 58. OICT9T S ORI 9T SYIET Ml 9dg 2ar
surface when polished ? F9 -
(1) Granite (1) wmmEe
(2) Brick Q) %
(3) Concrete (3) wEE
(4) Sandstone (4) e TeR (F5 M)
59.  Which of the following is not a sound 59. =0 9§ o 91 S ey ggrd 98t & 0
absorbing material ? . '
(1) Thermocole (1) e
(2) Ground Glass ) FrrE
(3) Glass Wool (3) HEHWT
(4) Jute Matt @) i
6. Ozone layer around the earth prevents 60. 9T F TR AT A T ad gt ua9
penetration of FIAFA L9
(1) Ultra-violet rays (1)  TRET R
(2) Sound waves (2) et
(3) Excessive heat (3)  areafiss Tt
(4) Infrared rays (4) e feoi
61. A white coloured building interior 61. TART I Ghg T G 90T SR 92
looks larger because ST & e
(1) it reflects more light (1) =& e YTHT Rafad Fen e |
(2) 1tisacool colour (2) TWUFBTETE |
(3) itis a warm colour (3) WTFTHITE |
(4) it absorbs more light 4) g% R Au g |
Space For Rough Work / 3% & & foe svie
X (22)



62. Sanitary Fixtures are 62. Al fFrR I

(1) Matt and smooth (1) e 3o
(2) Glossy and rough (2) THFER AR GIEL
(3) Matt and rough (3) #e Sﬁtw
(4) Glossy and smooth (4) TEERR FR faa
63. Which of the following are secondary 63. FeifFa I gREATTOILTE?
colours ?

1) =T, e S E
(1) Purple, blue and green (1)

(2) Orange, purple and green (2) A, S AR E
(3) Green, orange and yellow (3) &, AR 3 e

(4) Orange, blue and green (4) =, e R E

64. Three true primary colours when 64. @ v watE O W e | @ A

mixed together are closest to [ Toee TTaar e ?
()  White () wEI
(2) Violet @) FEra
(3) Blue (3) Hera
(4) Black @) wEr
65. Which one of the following colours 1s 65. T 9GS A T HAAE ?
the most tranquilizing ?
(1) =en
(1) Blue
2) e
(2) Red (2)
3) Yellow (3) e
(4) Black (4) el

Space For Rough Work / % & % fofe 78

(23) X



Directions (for Q. 66 to 67) : Which one of
the answer figures is the correct mirror
image of the given problem figure 7

66. Problem Figurc

Answer Figures

.

(1 2 () 4)

67. Problem Figure

+ O

NER

Answer Figures

Ale |11 %10 |+
X+ | N[O ||+ O] | X[V

(1 (2) 3) 4

Directions (for Q. 68 to 70) : Find the odd
figure out :

%%%%%
e [ | e

(1 ) 3) C))

69.

89T (9. 66 T 67 & iU ) : I STFHaal 4 H
F G B S T TS IMHA H WA FU9T
gfdfar= e ?

66. U9 3HI

TR SqHIAr

DT

(1) (2) 3) 4)

67. WY AHIA
+1 0
N| %
IR IHTaAT
Alo|[x|+][a]x]o]+]
|-+ [N|O || F+|O|| XV
(1) (2) (3) 4)

frer: (1. 68 @ 70 % fow ) : Tawm el =t

FATE |

%%@'E%%

(h (2)

69.

e s

(1) (2) (3) (4)

Space For Rough Work / T & & foe 7%
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(1) @

)

(&8

(4)

Directions (for Q. 71 to 74) : Which one of

the answer figures will
sequence of the problem figures 7

71. Problem Figures
1|
L1l
A B c D
Answer Figures
Qg
N
“H @ 6
72. Problem Figures

A B C D

Answer Figures

G @ G @

complete the

70. C """" — .. %
)] (2) 3) 4
Fee: . 719 74 & fow ) ; SR enplaai 4 )
FIF H FIT UST SAHaET FOSTRA U HW

= 2
71, U SEFHAAT
1|
(1|1
A B C D
et s
1]
10
»m @ 6 @
72,  UST ATHicET
A B C D
e s
H @ & @

Space For Rough Work / T %/ & faw ste
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73. Problem Figures
o X A o
X AlA 0|0 X|X A
A B C D
Answer Figures
A X X Q
O X|0 A|lA O|X A
Hn @ 6@ @4
74. Problem Figures
G ®40 @ o y0e
@ A P o O bt
o o jb a A A YO
A B C D
Answer Figures
o o A 0 A
o 4 ]a OtwetwtoX®
(1) (2) (3) (4)

Directions (for Q. 75) : Some geometrical
shapes arc given, on the right, in answer
figures. When they arc assembled, which
onc of them, will form the figure given on
the left ?

73. VA (Al
o F3 A o]
x AlA 0|0 XX A
A B C D
I STHIAr
A X X Q
o xlo AlA O|X A
m @ 3 @
74. WA FHGET
o @lo © 0§10
(o] T — - O O b =
o oAb A ﬁwro
A B € D
I SATHTA!
[s] o A o A
0 A laNe —l o X o
® o n‘l@ (o)
(1) (2) (3) (4)

e : (1. 75 & fow ) : 3o wfada ansfaat
2T 3R F IR AP F A F | T A
W, FE W IHEG 9 AR A T AFA
ST 9

75. Problem Figure 7s. “":‘13"?*“
| | | ]
Ans_\:ver Figures S ATt
O [] =3 O d -
0o oo
0 dl =g — |0 .
mn @ 6 @ n @ 6 @
Space For Rough Work / ¥% % % f&e svme
X (26)



Directions (for Q. 78 and 79) : How many
total number of triangles are there in the
problem figure, given below ?

78. Problem Figure

(1) 30
2) 36
3) 38
4) 28

79. Problem Figure

(L)
(2)
()
(4)

Ny ND 00

Directions (for Q. 80) : How many total
number of squares are there in the problem
figure, given below ?

80. Problem Figure

(1) 16
@) 14
3) 18
4) 20

MU @788 9% faw) : g ww
3Tia & TS o0l eT G fohe & 9

78. WA MFHA

(1) 30
2) 36
(3) 38
@) 28

79. USH SHIA

(1)
@)
(3)
(4)

R (7. 80 F fow ) : 9 5t e we e e
Tt o T T et € 2

N WO 00 ]

80. W 3MHica

(1) 16
2) 14
(3) 18
4) 20

Space For Rough Work / 7% %/ % fole s7e
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81.

82.

83.

85.

Maitri Mandir is situated in
(1
(2)
(3)
@)

Auroville
Andhra Pradesh
Kerala

None of these

The famous Padmanabhapuram Palace
is located in the State of

(1) Tamil Nadu

(2) Andhra Pradesh
3)
“4)

Karnataka

Kerala

Tansen lived during the times of
(1) Sher Shah Suri

(2) Akbar

(3) Jahangir

(4) Shivaji

Which one of the following is not an
architect ?

(1) Inder Gujral
(2) Charles Correa
(3) Anant Raje
(4) Le-Corbusier

Henry Moore was a
(1) Architect

2
3)
)

Archacologist
Sculptor
Astronomer

81.

82.

83.

85.

At HisT e &
(1) emifaer |

(2) FgwRwH
(3) F=EH

(4) TEIFETE

(1) dfbeTgH
(2) FgWRWH
(3)
(4) wAH

A e ST & a1 2
(1) Ireme gh

(2) FFRF

(3) IR &

(4) foramit &

fr=ifere o | 1 ARgER T 2

() =T
(2) =T FirEr
(3) E=TS
(4) @R

T L H 91 ?
(1) U AEHR

(2) U REaEs
(3) UmHHR

(4) UH@ETAR

Space For Rough Work / 7% 514 % fow w7
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86. In which of these countries can you 86. dfFaT Uew 2R T forr o St ufgs, o
find the famous man-made BRI THI0T At T2 A, T | i 9 BT
constructions of Buckingham Palace HE9
and The Big Ben ? )

(1) United Kingdom (1) T
(2) China (2) =M
(3) India (3) WRd
(4) Japan (4) =M=

87. The structure of Golden Gate Bridge is 87. TeeT e s wieaTSare ?
(1) Floating (1) eRargam
(2) Suspension (2) FEE
(3) Trussed (3) FRRTE
(4) Column and Beam @) A

88. Famous ‘?un Temple’ is situated at 88. ez o e R 3
(1) Pur :

(2) Konark 1y g
(2) WU H
(3) Bhubaneshwar 3) s
(4) Kanpur ( ) .
(4) wFEARH
-89. Victoria Memorial is a 89. i daifaar s ?
(1)  Museum (1) T ITETER
(2) Theatre (2) T T
(3) Hospital G) S
(4) Railway Station @) T S
90. The f: s k of Le .
- Sci ie;mouq work of Leonardo da 00, Erderet o ot el 2
(1) Elizabeth (1) st
(2) Mona Lisa (2) =T EET
(3) TheKing (3) TR
(4) Cleopatra (4) FHerargaT
Space For Rough Work / T % & 6T S7®
X (30)
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10.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY:

Part—1 has 40 objective type questions of Mathematics
consisting of 3 marks each for correct response. In Part-II
of the test, for each correct response, the candidate will get
3 marks. For each incorrect response in Part-1 and Pan-11,
1/3 of the marks allotted to the question will be deducted
from the total scorc. No deduction from the total score,
however, will be made if no response is indicated for a
question in the Answer Sheet.

Handle the Test Booklet, Answer Sheet and Drawing Sheet
with care, as under no circumstances (except for discrepancy
in Test Booklet Code and Answer Sheet Code), another sct
will be provided.

The candidates are not allowed to do any rough work or
writing work on the Answer Sheet. All calculations/writing
work are to be done on the space provided for this purpose
in the Test Booklet itself, marked *Space for Rough Work”™.

Each candidate must show on demand his/her Admit Card
to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her scat.

On completion of the test, the candidates should not lcave
the examination hall without handing over their Answer
Sheet of Mathematics and Aptitude Test — Part—1 & 11
and Drawing Sheet of Aptitude Test - Part-[Il to the
Invigilator on duty and sign the Attendance Sheet at the
time of handing over the same. Cases where a candidate
has not signed the Attendance Sheet the second time will
be deemed not have handed over these documents and dealt
with as an unfair means case. The candidates are also
required to put their left hand THUMB impression in
the space provided in the Attendance Sheet. However,
the candidates are allowed to take away with them the Test
Booklet of Aptitude Test — Part-1 & 11

Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

The candidates arc governed by all Rules and Regulations
of the Board with regard to their conduct in the Examination

. Hall. All cases of unfair means will be dealt with as per

Rules and Regulations of the Board.

No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detachcd/folded or defaced under any
circumstances.

The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing Sheet
in the Attendance Sheet also.

. Candidates are not allowed to carry any textual

material, printed or written, bits ol papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

rJ

1.

. e v, T el g it 6 ) e e i

frfefas feTam ¥ o ¢

i1 % wrr-I 1 v % 40 aRge e § e v el
e ¥ fem 3 sfes & | witen qfére & w11 5, sifea et
et gwv & fetu 3 3w fau st | s | @it s 11 weles e
I E o sa v & fmuge A 4/ 13 swFaam a4
FIZ fou T | 3fE IR U | Rl U 6 S IO 6 e
A &, 7 Fe A H # i 3 T we S |

e e, S UH U4 TN vl @ eeEe war #1.
it faeit ot oRfeafa F (Faw wiw Raw vd I = F
e 3 o 9t Rt &1 stga) ol ot gl Jueas =
A S |

udlefiat ®1 IR 93 9 HE A T H a1 fonard % e w1
Ft sppfa 1 & 1 goit o o ferand S, v gt 3
Fuifes o7 st o6 7% @ % forw o g AAnitena 8, WE
fean s |

S R wedE v e w5 s vae e R

it 21 Frdtrer @1 faes arqeia & faen ¢ odtamdt s
A B |

Tl WA 9 97, e et st s Rt - qeE-l
ws s oiwer - wm-11 7 39 U3 ud sfwata e -
-1 & g vz &3 sl 3ufRefe v o wener gEm
F & Tyarg 1 G §E ST | U A FE WA A S
for 3% W ue 3EN i 74 wew M E fad sfan ane
W & Soft 8§ 5 s | oAt 3o =T Y % S
w1 ot safeafer wa o fro o e T Ev sl | i,
yitendt st sifesta adeor - -l od am-11 & e
e & 1w £

TRt At tiees Haa e 16 (o e,
W, F1T%) 1 v At € |

it e SR % feu st atg & Pt e fatas
r Frafae g | sefaa ameT WA & w5 ama & e
are & ot vet Taframl & sFER #m |

fealt oft Ry & wdten e, 3w o va R e #EE
«ft s 7 A ST e s A = @ Higy s s e
S |

1yt d A% | wifed o 9 o o o
AT T O Eie/waY ¥ ua wE & e et v
Ty W, qiEA a1 i, e s e, ge,
HIETEE W, JerEites SUHToT AT el 3 W A
T H I AT ITET HAA B AR ACE |
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